
Floor Mounting Column and 
Cantilever User Manual



Important User Information          

Because of the variety of uses for the products described in this publication, those responsible for the
application and use of this control equipment must satisfy themselves that all necessary steps have been
taken to assure that each application and use meets all performance and safety requirements, including
any applicable laws, regulations, codes and standards.

Reproduction of the contents of this copyrighted publication, in whole or part, without written permission
of Rockwell Automation, is prohibited.

Throughout this manual we use notes to make you aware of safety considerations:

The illustrations, charts, sample programs and layout examples shown in the guide are intended solely for
purposes of example. Since there are many variables and requirements associated with any particular
installation, Rockwell Automation does not assume responsibility or liability (to include intellectual property
liability) for actual use based upon the examples shown in this publication.

Rockwell Automation publication SGI-1.1, Safety Guidelines for the Application, Installation and
Maintenance of Solid-State Control (available from your local Rockwell Automation sales office), describes
some important differences between solid-state equipment and electromechanical devices that should be
taken into consideration when applying products such as those described in this publication.

It is recommended that you save this user manual for future use.

Identifies information about practices or circumstances that can cause an explosion in 
a hazardous environment, which may lead to personal injury or death, property 
damage, or economic loss.

Identifies information that is critical for successful application and understanding of 
the product.

Identifies information about practices or circumstances that can lead to personal 
injury or death, property damage, or economic loss. Attentions help you identify a 
hazard, avoid a hazard, and recognize the consequences.

SHOCK HAZARD Labels may be on or inside the equipment (for example, drive or motor) to alert people 
that dangerous voltage may be present.

BURN HAZARD Labels may be on or inside the equipment (for example, drive or motor) to alert people 
that surfaces may reach dangerous temperatures.

WARNING

IMPORTANT

ATTENTION



          1Original instructions

Introduction
The Allen-Bradley Guardmaster aluminum mounting stand is offered in a two meter length and is supplied with a floor mounting plate and the 
hardware necessary to mount the floor plate to the aluminum extrusion as well as leveling hardware for the floor plate. The two meter aluminum 
extrusion has a cross section of  60 x 60 mm (2.36 x 2.36 in.).

The two meter mounting stand is designed for mounting safety light curtains, corner mirrors, and the 445L muting box. The two meter mounting stand 
can also be used for entry and exit end muting. A 500 mm long 60 x 60 mm aluminum section is offered with mounting hardware and a black end-cap 
cover. One section attached to the two meter mounting stand allows an “L” type, two-sensor muting solution, two 500 mm sections allow for two- or 
four-sensor “T” type muting. The slots in the extrusion allow easy assembly and positioning of muting sensors and reflectors.

Micro 400 example

Safe 4 example

Figure 1: Mounting stand used for safety light curtain in a muting system

IMPORTANT If an “L” or “T” type configuration is 
planned, it is best to assemble the 500 mm 
sections to the two meter post prior to 
installing the floor plate.

Muting Controller Box
(MSR42)

445L-AMUTBOX1

Floor Mounting Plate
(included with 

mounting column)

Muting Sensor

Cantilever

Reflector

Light Curtain
(GuardShield Micro 400, 

Safe 2, Safe 4 or 440L)

Mounting Stand



Floor Mounting Stand and Cantilever User Manual

2   Original instructions

445L-AMSTD2M Floor Mounting Stand

Step 1: Supplied parts

Step 2: Assembling floor plate to post

Pos Qty Description

1 1 pc. Profile 60 x 60 x 2000 mm (2.4 x 2.4 x 78.7 in.)
2 Floor plate to extrusion mounting hardware

4 pcs. Zinc hexagon socket head cap screws DIN 912 M6 x 25 mm 
(0.98 in.)

6 pcs. Zinc washer (flat) M6 x 12 mm (0.47 in.)
3 3 pcs. Zinc set screw DIN 913 M12 x 12 mm (0.47 in.)
4 1 pc. Aluminum, black anodized floor mounting plate
5 Micro 400 bracket hardware (bracket not included)

2 pcs. Zinc-plated T-slot nut 6 steel M4
2 pcs. Hexagon socket head cap screw DIN 912 M4 x 14 mm 

(0.55 in.)
6 Brackets

445L-AF6145 Micro 400 flat bracket (not included)
7 Safe 4 bracket 445L-AF6140 hardware (bracket not included)

2 pcs. Zinc-plated T-slot nut 6 steel M6
2 pcs. Hexagon socket head cap screw DIN 912 M6 x 20 mm 

(0.79 in.)
8 Brackets

445L-AF6140 Safe 2/4 bracket (not included)
9 Muting box hardware (muting box not included)

2 pcs. Zinc-plated T-slot nut 6 steel M5
2 pcs. Zinc washer (flat) M5 x 10 mm (0.39 in.)
2 pcs. Hexagon socket head cap screw DIN 912 M5 x 12 mm 

(0.47 in.)
Not shown:

4 pcs. Cover profiles for hiding cables (aluminum, 300 mm 
(11.8 in.))

1 pcs. Profile top cap 60 x 60 mm (2.4 x 2.4 in.)

Position the floor plate to the bottom of the two meter post with the 
recessed holes opposite the post. Premount the screws with the washer in 
the holes of the floor plate. 

For use as a muting system, assemble 
cantilevered arms prior to installing the floor 
mounting plate.

2

4

5

6
9

8

7

3

1

IMPORTANT



Floor Mounting Stand and Cantilever User Manual

                                                     3Original instructions

Step 3: Leveling hardware

Step 4: Install profile covers

Step 5: Leveling the two meter post kit

Three hexagon socket head cap screws are supplied to level the floor plate. 
If necessary, premount these screws before attaching the floor plate to the 
aluminum post.

Four 300 mm profile covers are supplied with each two meter post to hide 
the cables. Install these after the cables are assembled and connected. Use a 
rubber mallet to secure these profile covers to the two meter post.

When the floor plate is positioned and loosely secured to the floor, adjust each leveling screw to assure the two meter post is attached to the floor. 
Then tighten the floor plate to the floor.



Floor Mounting Stand and Cantilever User Manual

4   Original instructions

445L-AMSTDMUT Cantilever—Assembly Steps

Step 1: Supplied parts

Optional parts for muting—not supplied
8 RightSight retroreflective sensor 42EF-P2MPB-Y4

7 RightSight swivel/tilt bracket 60-2649

- 4-pin straight DC micro QD patchcord 889D-F4ABPM-X (X is length in meters) (not shown)

5 Large reflector 92-39 (76 mm (3 in.) diameter) or small reflector 92-47 (32 mm (1.25 in.) diameter)

Step 2: Assemble 500 mm cantilever post

Pos Qty Description

1 1 pc. Aluminum profile 60 x 60 x 500 mm (2.4 x 2.4 x 19.7 in.)
1 pc. Black end cap 60 x 60

2 1 pc. Aluminum cover profiles for hiding cables (300 mm 
(11.8 in.))

3 To attach cantilever post to the floor stand post
4 pcs. Stainless steel universal fastening set #6 (item no. 0044174)

4 1 pc. Mounting kit for reflector (reflector not supplied)
1 pc. bracket 80 x 40 x 20 Zn (Item No. 0047463) 
Bracket mounting hardware:

1 pc. washer (flat) M6 x 12 mm (0.47 in.) (zinc)
1 pc. hexagon socket head cap screw DIN 912 M6 x 16 mm
    (0.63 in.)
1 pc. T-slot nut 6 steel M6, zinc plated

Reflector mounting hardware
1 pc. hexagon socket head cap screw DIN 912 M5 x 30 mm
     (1.18 in.)
1 pc. washer (flat) M5 x 10 mm (0.39 in.) (zinc)
1 pc. hexagon nut DIN 934 M5 (zinc)

6 RightSight bracket 60-2649 mounting hardware
2 pcs. Hexagon socket head cap screw DIN 912 M6 x 14 mm 

(0.55 in.)
2 pcs. T-slot nut 6 steel M6, zinc plated

Slide the four universal fastening sets in each slot on the left or the right side 
of floor mounting stand.

Place the lower universal fastening sets at the desired height. Make sure that 
the bezels of the lower universal fastening sets are on the upside.

Place the upper universal fastening sets about 100 mm higher than the 
lower ones. Make sure that the upper bezels of the universal fastening sets 
are on the underside.

2
45

68
7

3

1



Floor Mounting Stand and Cantilever User Manual

                                                     5Original instructions

Step 3: Securing 500 mm cantilever to post

Step 4: Installing muting sensors and reflectors

Step 5: Installing reflector

Hold the cantilever profile between the universal fastening sets. Using a #4 
hex tool tighten the hex head screws. 

Mount the muting sensor to the bracket. Mount the muting sensor and the 
bracket to the slot in the extrusion using the supplied hardware.

Mount the reflector to the supplied bracket. Mount the bracket to the 
extrusion slot using the supplied hardware. Position the reflector and 
tighten bracket hardware.



Floor Mounting Stand and Cantilever User Manual

6   Original instructions

Step 6: Mount cover profiles

Dimensions [mm (in.)]

Run cables in the slots once the system is complete. Finish the assembly by 
positioning the profile covers. Using a rubber mallet or a block of material 
that will not damage the material, lightly tap the cover profiles in place. 

60
(2.36)

12
(0.47)

2015
(79.3)

2000
(78.7)

60
(2.36)

20 (0.79) defined at installation

80
(3.15)

500 (19.69)

503 (19.80)
9.4

(0.37)

60
(2.36)

60
(2.36)

40
(1.57)

300 (11.81)
cover for cable

locate appropriately

24 (0.94)

30 (1.18)

3 x M12

R 5.50 (0.22)

10°

14
(0.55)

R 105 (4.13)

30
(1.18)

30
 (1

.1
8)

150
(5.91)

100
(3.94)

240 (9.45)

Base Plate



Floor Mounting Stand and Cantilever User Manual

                                                     7Original instructions



Floor Mounting Stand and Cantilever User Manual

8   Original instructions



Floor Mounting Stand and Cantilever User Manual

                                                     9Original instructions



www.rockwellautomation.com

Power, Control and Information Solutions Headquarters
Americas: Rockwell Automation, 1201 South Second Street, Milwaukee, WI 53204 USA, Tel: (1) 414.382.2000, Fax: (1) 414.382.4444
Europe/Middle East/Africa: Rockwell Automation, Vorstlaan/Boulevard du Souverain 36, 1170 Brussels, Belgium, Tel: (32) 2 663 0600, Fax (32) 2 663 0640
Asia Pacific: Rockwell Automation, Level 14, Core F, Cyberport 3, 100 Cyberport Road, Hong Kong, Tel: (852) 2887 4788, Fax: (852) 2508 1846

10000127396 Ver 01 Copyright ©2011 Rockwell Automation, Inc. All Rights Reserved. Printed in USA.
July 2011

GuardShield is a trademark of Rockwell Automation, Inc.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 1
  /Optimize true
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Helvetica
    /Helvetica-Bold
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Average
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 2.00000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Average
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 2.00000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Average
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




